P®™aj030 LobiEgdgoo o Logbomgdol MMM
Linear systems and signal theory Col. 1
100% total

15pt
Problem set 1(10pt)
1.1. (5pt)
Write equation of signal shown below
1.1 (5pt)
©ofgmgm Jggdmm dmygzobomo Logbomol Bybdgos
1.2(5pt)

Write odd and even parts of this signal
©ofgegm o obHaBgm Logbomol cyfo o 3g6E0 bofoemgdo.

Problem set 2(20pt)

Determine whether or not each of the following discrete-time signals is
periodic. If the signal is periodic, determine its fundamental period.

300M0® 33090 M®MIgmmo Logbooo 3gMomEYMoO. M9 Logbomo 3gMOMOYMOS
03m369m BYbsdgbEn®o 3gMH0m©o
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2.1. (5pt)

z[n] = sin(6/7mn + 1)

2.2(5pt)
z[n] = cos(m/8n?)
2.3(5pt)
x[n] = cos(mw/2n)cos(m/46n)
2.4(5pt)

x[n] = 2cos(mw/4n) — cos(3w/Tn) — 3cos(n/2n + 7/2)

Problem set 3(10pt)

Determine whether or not each of the following CT signals is periodic. If the
signal is periodic, determine its fundamental period.

30000033090 Mg Logbomos 3gMomwYeo. 09 Logbomo 3gHomwYEos 03,Mg-
bgm 396000396 M0 3gMomo

3.1. (5pt)
x(t) = 3cos(4t + 7/3)
3.2(5pt)

x(t) = 4sin(7t + 7/5) — Tcos(19¢)

Problem set 4(20pt)

Determine if the following signals are even, odd or neither even or odd.
300M0®33gm J3gdmE dmyggobomo Logbomgoowob MmAgmos myfo, 3906¢0, O3
wgfio 0®@ 3gbyo.
4.1. (10pt)
x(t) = 2sin(27t)[2 + cos(4nt)]
4.2. (10pt)
7T

- 4
z[n] = ¢ 4 Jrcos(%n + )



Problem set 5(20pt)

Calculate:
300Mm3oMmgm:
5.1. (10pt)
20 cos(2mt) + et
—————§(t)dt
== atl
5.2. (10pt)

/'H cos(3t)6(t o)t

L t=2

Problem set 6(20pt)

Signal z(¢) is given on Fig. 1. Draw:
Bbogbomo x(t) Bmpgdnmos Ly®d. 1. ebebgm:

6.1. (4pt)
x(t —2)
6.2. (4pt)
z(t+3)
6.3. (4pt)
x(2t)
6.4. (4pt)
(t/4)
6.5. (4pt)
z(=1)



